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Corrected Answer:

These pie charts depict the most important energy sources between 1980 and 1990 in
United States. It is clear from the graph that more than 80 percent of the energy in the USAH
produced from oil, natural gas and coal.

According to what is shown, oil accounted for the highest contribution in energy
sectors in both 1980 and 1990, despite the fact that oil consumption reduced by 9% by
1990. On the other hand\ koal had grown from 22% to 27% between 1980 &o\ 1990, while
natural gas presented a tiny growth in the same period.

As for the other sources, the nuclear and hydroelectric power presented a contrary
behavior. The nuclear energy contribution [grew by the double\ between 1980 and 1990,
while the other sustained at }abeuﬂthe same level during the same period.

Commented [ielts1]: was (1) Make sure you write auxiliary
verb form here along with the main verb. Thanks

2) Write in accordance with passive voice here. Thanks)

e.g. | consider career as very important (active)

My career is considered very important by me. (Passive))
e.g. | have done this (active).

This has been done by me (passive)

Please explore this link:
https://www.englishpage.com/verbpage/activepassive.html

Commented [ielts2]: , (Comma is required to be used here.
Please explore rules related to use of comma in the link
given below:-
https://www.grammarbook.com/punctuation/commas.asp
Comma is required to be used here, please explore the link
given in comment)

Commented [ielts3]: and (See, with 'between' at the
beginning you need to use 'and' and not 'to.' Do remember
this. Thanks

That is, we write 'between' + and"

e.g. There are differences between my parents and my
brother)

e.g. You will have to choose between client A and client B.)

Commented [ielts4]: doubled (The expression is incorrect;
so, rephrasing has been done here.)

Commented [ielts5]: (The word usage is not correct in this
context, so omit it. Revise edit. Thanks)



https://www.englishpage.com/verbpage/activepassive.html

To sum up, we could say that the contribution of nuclear and hydroelectric energy | as

”

an aggregate’|grew by 5%, while &he it reduced\from 90% to 85% for the other three

sources.

174 words

Evaluation:

Great to see your writings again, hussain.. seems you’re working hard and improving each time!

Your estimated score is:

Commented [ielts6]: , (1) Incorrect punctuation is written
here; appropriate punctuation has been provided.

For better understanding please explore the relevant
portion in punctuation link given below:-
https://dictionary.cambridge.org/grammar/british-
grammar/writing/punctuation
https://www.myenglishpages.com/site php files/writing-
punctuation-tips.php

2) Comma is required to be used here.

Please explore rules related to use of comma in the link
given below:-
https://www.grammarbook.com/punctuation/commas.asp
Comma is required to be used here, please explore the link
given in comment)

Commented [ielts7]: , (Please relate to comment 7. Thanks)

Cohesion and
Coherence

Overall Task Response Vocabulary Grammar

What you have done really well:
1. Paragraphing is properly managed.
2. Itis avery good response, just improve upon the edits. Thanks

What you can improve:
1. Improve upon mistakes related to preposition.
2. Improve upon mistakes pertaining to word choice and word formation.
3. Improve upon active and passive voice. Thanks.

Regards,
AV

Sachin

Your IELTS Writing Examiner

13+ years of experience correcting IELTS writing tasks.
sachin@dalilk4ielts.com

Commented [ielts8]: there was a reduction (This expression
is ambiguous here; so, it has been rephrased to impart
clarity to the expression.)



https://www.myenglishpages.com/site_php_files/writing-punctuation-tips.php
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